[ PROVISIONAL ANSWER KEY }
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Que. No. 001-200( GS & Engg. Aptitude)
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sbueTasend 3100201

Note:-

(1) All Suggestions are to be sent with reference to website published Question
paper with Provisional Answer Key Only.

(2) All Suggestions are to be sent in the given format only.

(3) Candidate must ensure the above compliance.

(1) GREAR cllul-yAsll %Y sl A2 U YR A R otysilell GUAlaL s,

(R) GHecRIA Wdlal uleundli 1A AR 3ell UsyRASIHL HWAA Usl sHLS Yol cdltl-YUoll
% ol 5cll AMIH citl-YAuoll dotse UR YRtY YAA WAl BlodR Sloll Usl sUiS
Yool ol A AeelUl %Y s2cl

(3) GREARMN G5l YUollo] WUYS UlGlol $3G oAUl cAltl-YAA 3 53¢ 1Al tlla
Aaud «igl.



001. (At 1 : (el &[22, Ad GHIRAHE 7HL $H 4RAd .
(QAtun 2 : 391 20° 1" 24 24° 7* Gl A8i2L a2’ 2udg ¢,
(A) A2 (a1 Aacn 69,
@ Qa2 v .
(C) [Atnt 1 244 2 6id A 89,
(D) [t 1 244 2 i 21 69,

002. ‘$8l-L HELL .......... Hi vudeu 8.
(A) %18 (B) i sisL
(C) adiext @:

-

003. DAl A€lainA elaedl Grr-u sHui dusal.

1. wdl 2. %ilois
4. awdl
(B)1,2,3,4
(D)3,1,2, 4
004.
s1ws - 2
P. yoR1os Al 1. ez
Q. Y 2. Yeal doua
R. elluga udal 3. AsAl&21 dona
S. Rty 4. GHSIEY,
(A)P-1,Q-2,R-3,S-4 @~ :0-2rR-15-3
(C)P-4Q-1,R-2,5-3 (D)P-1,Q-3,R-2,S-4

005. ‘Yol ae1361” 1AL 58 buotd il Asouda e ?
@:ciou 2ioun (B) sMotd [Asiu
(C) dis-ulden (D) 3A-last

-\

006. DAL SL05H WHILL dALsAl.

1. Vi3l AUAS 2. ‘U AH L 2L
3. AUAS AU 4. de1d [dendls
(A)4,2,3,1 (B)4,3,2,1

@:: 14 (D)2, 1,4,3
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001. Statement 1 : Areawise, Gujarat ranks 7t in India.
Statement 2 : Gujarat is situated between 20° 1" and 24° 7* northern latitude.
(A) Only statement 1 is correct
.Only statement 2 is correct
(C) Both statements 1 and 2 are correct

(D) Both statements 1 and 2 are wrong

002. ‘Kanthi’s Plains’ are situated in
(A) Junagadh (B) Banaskantha
(C) Vadodara .Kutch

003. Arrange the following rivers in South to North order.

1. Mahi 2. Ambica 3. Saraswati 4. Tapi
(A)1,3,4,2 (B)1,2,3,4
@:s 142 (D)3, 1,2, 4

004. Match the following tables:

Table 1 Table 2

P. Moolraj Solanki 1. Sun Temple

Q. Pushyagupta 2. Sudarshan Lake

R. Bhimdev First 3. Sahastralinga Lake

S. Siddhraj 4. Rudra Mahalaya
(A)P-1,Q-2,R-3,S-4 @~ :0-2RrR-15-3
(C)P-4,Q-1,R-2,5-3 (D)P-1,Q-3,R-2,5-4

005. With which of the following, is “Mukhi Garbaddas’ associated ?
.Freedom Struggle
(B) Agricultural Development
(C) Folk Literature
(D) Dairy Development

006. Arrange the following in chronological order :

1. Kheda Satyagrah 2. Establishment of ‘Praja Samaj’
3. Satyagrah Ashram 4. Gujarat Vidyapith

(A)4,2,3,1 (B)4,3,2,1

@:: 14 (D)2,1,4,3
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007. DA siesid Asl.
sies-1 sivs -2

P. viojeus yuell 2idis 1. Hida st

Q. 2HSIRUY 615 2AdlS 2. R

R. HaLes 2 idls 3. Mase

S. ogulGuyy Hidls 4, st
@--30-4RrR-25-1 (B)P-3,Q-4,R-1,S-2
(C)P-4,Q-3,R-2,5-1 (D)P-4,Q-3,R-1,S-2

NN

008. D2t s AL AAH Yasleigs UEIA SUNT UL Sdl. dAHA 51005H UHWL dlsal.

1. JRIcdAY 2 2. Grugisz Al
3. ulalg ued 4. :[agis Aan
(A)2,4,1,3 @::2.:3
(C)2,4,3,1 (D)4,2,3,1

009. DAL sl s AL

sies -1 shes - 2

P. aldas 1. Reinl

Q. Ry 2.u2s

R. sudl 3. sl

S. youi-l wadlail 4. d™Rel
(A)P-1,Q-2,R-3,5-4 (B)P-1,Q-2,R-4,5-3
@-20-1rR-35-4 (D)P-2,Q-1,R-4,S-3

010. Tl Ul su1 & d Ysaoid sl Astuden 8 ?
(A) Rz (B) uAASIRe
(C) disged @:v A

011. [dtun 1 : craie SliRie asia-Gaidl 18 AsnAal 9.
[Qtin 2 : waddua vioalRu 2uldls & wa Asoudar 6.

(A) Wt [ 1 a9, (B) Huat [Qaunt 2 e 69,

@-in Qe u . (D) siSuR [Ati ey 4ell.
012. HIL U2 .......... A8 As0AA 69,

(A) i 2[R (B) 2t1a 2[R

@22 (x4 (D) €13
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007. Match the following tables :
Tablel
P. Ambubhai Purani Award
Q. Omkarnath Thakur Award
R. Maganbhai Desai Award
S. Jaibhikhu Award
@--30-4rR-25-1
(C)P-4,Q-3,R-2,5-1

Table 2

1. Human welfare

2. Education

3. Sports

4. Art
(B)P-3,Q-4,R-1,S-2
(D)P-4,Q-3,R-1,S-2

008. The following laureates were conferred with Ranjitram Gold Medals. Arrange them in

chronological order.

1. Gunvantrai Acharya
3. Pannalal Patel
(A)2,4,1,3
(©)2,4,31

009. Match the following tables :
Tablel
P. Sharvilak
Q. Statue
R. Hayati
S. Dhoolmani Pagalio
(A)P-1,Q-2,R-3,5-4
@-20-1,rR-35-4

2. Umashankar Joshi
4, Ravishankar Raval

@: 213

(D)4,2,3,1

Table 2

1. Essays

2. Drama

3. Poems

4. Memoirs
(B)P-1,Q-2,R-4,5-3
(D)P-2,Q-1,R-4,5-3

010. ‘Muktaben Dagli’ is associated with which of the following field ?

(A) Painting
(C) Folk dance

(B) Journalism
.Social Service

011. Statement 1 : Lalchand Hirachand is associated with shipping industry.

Statement 2 : Jaswantrai Anjaria is associated with economic sector.

(A) Only statement 1 is correct
.Both statements are correct

012. Mana Patel is associated with

(A) Lawn Tennis

.Swimming

(B) Only statement 2 is correct

(D) None of the statements is correct

(B) Table Tennis
(D) Running

ESP-1-M
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013. DA~ U4l sia nd uRadl’ 415 ueL 2A0LdL Sl ?
(A) 2udl garie uadl @0 s
(C) 31 ANAYd® (D) Sug1ad

014. A WA 5y =Rsua Rl g1l avude -9l ?
[ [RETHEE] (B) Snovpalle
(C) syx~wu (D) 1YRPs1R

015. (a4 1 : ssiadl 244 35Hiadl 24 9arua-dl suail wemlasu 8.
(At 2 : widag A ituul 20dd valdIH asd 98 ©.

(A) Ha [ 1 Aacn 69, (B) 1ot [Ate 2 uen 69,

(C) bid [l uen 8. @:iSuw [Qeun uen el
016. MI8L, BLUR, HIR ¥ YyAdl .......... A USIRA .

(A) dis-ied (B) R-s0u

@i (D) el

017. uesRud-l naH [Aaue sui sludl ¢dl ?
@ aa iRuza, xugiae (B) 1 Y[RaRiA
(C) yr2ud [aendls (D) d3Ud 514

018. A1 U 565 AL widL & ?
(A) 06 88lR18 A A6 NS Rilda silRued : xrugiae
(B) aivudl2l : 529
@ccus: seils
(D) Aidiga : dnAsind

019. drd-ll SlAstuni su1 AN A2S” L3 wRL NvAHL 204 €9 ?

@:un (B) elm2a udal
(C) Ry wulie (D) x1puun
020. QAL U4 56 ALl v & ?
@32 oy (B) 20200 €5Hd : WHAEI A
(C) siar-l €1€) : ylBmusi usa (D) 2esua-l agflond il : it wldazil

021. 1A WA 519 dendni s yaReudl azzud sl slag sdau ¢ ?
@2 wdaw (B) HéludRIM 3URH
(C) equdH (D) euRIH
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013.

014.

015.

016.

017.

018.

019.

020.

021.

Who of the following was also known as ‘Shakshat Saraswati’?
(A) Swami Dayanand Saraswati .Shrimad Rajchandra
(C) Rang Avadhootji (D) Hemchandracharya

Which of the following is not written by Narsinharav Divetiya?
.Pingalpravesh (B) Premaljyoti
(C) Kusummala (D) Noopurzankar

Statement 1 : Kanakavati and Rukmavati are species of cows of Gujarat.
Statement 2 : Panvad is a famous banyan tree situated at Ambaji.
(A) Only statement 1 is correct (B) Only statement 2 is correct

(C) Both statements are correct .None of the statements is correct

Bhatha, Besar, Dhar are types of Gujarati

(A) folk dance (B) painting

.soils (D) dialects

Where did the first Legislative Assembly of Gujarat use to sit?
.Civil Hospital, Ahmedabad (B) Gujarat University
(C) Gujarat Vidyapith (D) Gujarat College

Which of the following is wrongly paired?

(A) Sheth Hathisinh and Sheth Premabhai Civil Hospital : Ahmedabad
(B) Dholavira : Kutch

.Hridaykunj : Dabhoi

(D) Changdev : Hemchandracharya

Which king is also known as ‘Ashok’ in the history of Gujarat?
.Kumarpal (B) Bhimdev First
(C) Siddhraj Jaisinh (D) Ajaypal

Which of the following pairs is wrong?
.Bharuch : Bhrugupur (B) Aarzi Hukumat : Shamaldas Gandhi
(C) Didi of Dang : Purnimaben Pakwasa (D) Laxmibais of Gujarat : Vagher Women

Who among the following is said to have initiated social reforms in Gujarat?
.Durgaram Mehtaji (B) Mahipatram Roopram
(C) Dalpatram (D) Dayaram

ESP-1-M 7 [PT.O.
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022.

023.

024.

025.

026.

027.

028.

029.

A1 U 565 ALl vl 9 ?

(A) [R1s vieey : AN

(B) eRud ®a meuey : [URieq
(C) SRR ARUIRRY : Ao
@51 2icrren : adlsrust

D21 VAL dosud-u su1 Brecunid s5aa v a e ?
(A) WL @-uozsis
(C) »Melale (D) AMA21R

waRteHi 12 Ul su1 dsudl 2uden 8 ?
(A) elaa, dlaa, [Ba

@B, Al vl

(C) elaa, elda, el

(D) [, dla, [Ba

YARAAHL 51ALA WIS MR 1 Pyecunt udg € ?
@cuaor (B) MR
(C) Y (D) widL

A= U4 s Breaudl e 23l Breauq uatdl «ell ?
(A) GUA2IR (B) %1018
@02 (D) bileie

@1a-l dladl [Rsiami deud-l sil sedl 8 ?
(A) 60% (B) 70%
(C) 80% @)oo

A2l U 5y A01AR 2l wan AR ¢ ?
(A) Sldsdl ABIAR

(B) MHELE AR

@:ioiS dzeenr

(D) YR ARGLMR

Al Grigis2 AfA dx-l DA U4 56 gla w2 suAdls 2QdlS 2uucimi 20dd Sl ?
(A) [a=ild (B) fiRlaa
(C) vidii-l @0
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022. Which of the following pairs is wrong ?
(A) Lion Sanctuary : Gir
(B) Marine Life Sanctuary : Pirotan
(C) Black Buck Sanctuary : Velavadar
.Bear Sanctuary : Bardipada

023. Tropic of Cancer passes through which of the following districts of Gujarat ?
(A) Kheda .Sabarkantha
(C) Ahmedabad (D) Jamnagar

024. Which of the following lakes are situated at Pavagadh ?
(A) Doodhiya, Teliya, Ghiya
.Doodhiya, Teliya, Chhasiya
(C) Doodhiya, Dahiya, Chhasiya
(D) Chhasiya, Teliya, Ghiya

025. In which district is the sanctuary of tortoise situated ?
@shavnagar (B) Jamnagar
(C) Surat (D) Kheda

026. The boundry of which of the following districts does not touch Amreli district ?
(A) Bhavnagar (B) Junagadh
.Jamnagar (D) Botad

027. What is the share of Gujarat in exports of diamonds from India ?
(A) 60% (B) 70%
(C) 80% @0

028. Which of the following Share markets was Asia’s first Share market ?
(A) Kolkata Share market
(B) Ahmedabad Share market
.Mumbai Share market
(D) Surat Share market

029. For which of his following works was Shri Umashankar Joshi awarded Jnanpith award ?
(A) Vishvashanti (B) Dharavastra
(C) Gangotri @ ishith

ESP-1-M 9 [PT.O.
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030.

031.

032.

033.

034.

035.

036.

037.

A1 U 565 ALl vl © ?
@< ot vz : cnd e
(B) uigoL Al : HodA

(C) WRIRD 2AS : MU -l
(D) WIRA URHIR : 2%

‘Qopon’~lL AlGis siL 69 ?
(A) 2R 22 [ ERITEEER]
(C) gelst srudl2u (D) 214l Bldn

AAgis2 Mol 2 ldni S8 g Elar’ NG Yres avy € ?
(A) sla wnana

(B) u~iieud u2d

[ SEEELRLIE]

(D) duad1H Bl

“Yausid ofld Aar Wso’Hl 2au-u sidl 53 edl ?
(A) LAUAH HEdL (B) 2t
@:ss2euu (D) AAsis3 ran

A U 565 ALl vl 9 ?
(A) syle-l clbra : s
(B) R[4 Hdl : doun
(C) ALl : ae
@:i10is2 Al : 2Aer(en

DA WA 53 w82 [Redl-i Alell A2 gl Gu 2uda 8 ?
@iouy (B) SeRuoug
(C) -wayR (D) Y8l

2 WA 5y 2an Alas dd A2 [Asieuz-l Al s 6 ?
@ (B) A1l
(C) A (D) 4l dist

elaR ollousdui uar-u siell eugg anis dar i A A4 s34 uRown gaunerR © ?
(A) diuMiA (B) Yraslu &
@u uRana (D) ecul

ESP-1-M 10 [Contd.
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030.

031.

032.

033.

034.

035.

036.

037.

Which of the following pairs is wrong :
.Ilaben Bhatt : Bharat Ratna

(B) Pandurang Shastri : Magsaysay
(C) Morarji Desai : Bharat Ratna

(D) Parul Parmar : Arjun

Who is the author of ‘Lajja’ ?
(A) Anita Desai .Taslima Nasrin
(C) Kundanika Kapadia (D) Amrita Pritam

Who has written the book ‘Mansaina Diva’ in the memory of Ravishankar Maharaj ?
(A) Kavi Nathalal

(B) Pannalal Patel

.Zaverchand Meghani

(D) Govardhanram Tripathi

Who established ‘Panchmahal Bhil Seva Mandal’ ?
(A) Dayaram Mehta (B) Gandhiji
.Thakkar Bapa (D) Ravishankar Raval

Which of the following pairs is wrong ?
(A) Kumudini Lakhia : Kadamb

(B) Narsimha Mehta : Talaja

(C) Sidis : Dhamal

.Gaurishankar Joshi : Sneshrashmi

Which of the following cities lies on a longitude closest to that of Delhi ?
.Bengaluru (B) Hyderabad
(C) Nagpur (D) Pune

Which of the following places is geographically closest to Great Nicobar ?
.Sumatra (B) Barneo
(C) Java (D) Sri Lanka

Which of the following factors is responsible for wind to deflect towards left in the southern
hemisphere ?

(A) Temperature (B) Magnetic field

.Rotation of the Earth (D) Pressure

ESP-1-M 11 [PT.O.



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


038.

039.

040.

041.

042.

043.

044.

A1 U 565 ALl vl © ?
a8’ el
@4 : A6
(B) &3 : DEET]
(C) =~ s : R
(D) [ad-n : 37yt

Q2 W) 56 el GeMaet MuRdHi el ?

(A) [Brua (B) R-us

(C) udl @

QA A(Ad [l nmi al

1. wiiglyR 2. ellRas@ist

3. HI™ 4. YgRan

BuR-L USL SiM A8 ARARRAL AZLS N8R sAUML 20dd 8 ?

(A) WAL 1 249 2 @ 13214
(C) WA 2, 394 4 (D)1,2,3%4 4

D2 WAL 53y o122 Al 204 € ?
(A) tlibad1e A Geurt

(B) €3¢l mMuRRy

(C) AN AU Geun

@< < 1ad 20du Gann

[ 5& fasn- 2.4 251 A0 q1aal e 0, [l ga aud- s2dl audl (id 4 © ?
(A) 12% (B) 9%
@150 (D) 24%

217, AR AReumelHE, A2 UL 53 adiR yausiag ulad- 52 6 ?
(A) R @

(B) sid-i wisauvil ol

@ Lo 1250 sl ol

(D) Nudlg He

A UL a1 A Alell atu gedl Guast uan gl €9 ?

@:: (B) Ha
(©) (D) 45

ESP-1-M 12 [Contd.
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038.

0309.

040.

041.

042.

043.

044.

Which of the following pairs is wrong ?

City River
.Berlin : Rhine
(B) London : Thames
(C) New York Hudson
(D) Vienna : Danube

Which of the following rivers does not originate in India ?
(A) Beas (B) Chenab (C) Ravi @stlej

Consider the following protected areas :

1. Bandipur 2. Bhitarkanika
3. Manas 4. Sundarbans
Which of the above are declared as Tiger Reserves ?

(A) 1and 2 only .1, 3 and 4 only
(C) 2,3 and 4 only (D)1,2,3and 4

Which one of the following is located in Bastar region ?
(A) Bandhavgadh National Park

(B) Dandeli Sanctuary

(C) Rajaji National Park

.Indravati National Park

With 2.4 per cent of the world’s area, how much of the world’s population does India have ?
(A) 12% (B) 9%
[ JE (D) 24%

Which one of the following reflects back more sunlight as compared to the other three ?
(A) Sand desert

(B) Paddy crop land

.Land covered with fresh snow

(D) Prairie Plain

Which of the following planets has largest number of natural satellites or moons ?

.Jupiter (B) Mars
(C) Saturn (D) Venus

ESP-1-M 13 [PT.O.



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


045. Y 214 yed) a2 AAA idR (¥ielwd) 524 O ?
(A) 70 x 105 [3.4). (B) 100 x 105 (3.4
(C) 110 x 106 [3.4. @50 x 100 3.0
046. %R tiidl2-l 24is 2isen adl Ny, R d A WS sl 56 uRRald sald ¢ ?
@510 scwrun
(B) id SUHI
(C) 6§ A1 Ybs gL
(D) G i, d35lcUY) SAHIA
047. 1AL Q4 $id drasu-l-u Gl (philosopher’s wool) dZl$ wlnvauHi 2ud ¢9 ?
(A) [3s airss (B) [3s usSge
@55 isuss (D) (s setiruSs
048. dla sutA 5 A usaar e A A sl A qu ¢ ?
(A) $10{- s1aLsAS3 (B) S4-r
(C) 1831 @ 0EAA (SRdR)
049. Sl 1R 533 8 AR d AR ..., AL ICICERL
(A) 2alaa A8l xA013 (B) Ma-ia
[ BIEPEIER (D) ¥2s AR
050. WML A[Sdl 5 pH 2elR 524 slu €9 ?
(A)45-4.75 (B) 6.45 - 6.55
@374 (D) 8.25 - 8.35
051. Uesl- SAA As WA, % .......... 2044 6.
(A) Al (B) i dlui @G (D) S
052. auel-l cualds ol ......... RTICTE 3
(A) 5L dlora @152 i
(OEREIRELER] (D) AR5 2R3
053. A UL 53 MURAN AHIH ATM A Ais0L €9 ?
(A) S=flun oisu AARAAA
(B) Aana Risyd s Builzed) (s
@ 21a Gz siulRan vis SR
(D) Aaxd 615 2iis S3uL
ESP-1-M 14 [Contd.
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045.

046.

047.

048.

049.

050.

051.

052.

053.

What is the average distance (approximate) between the Sun and the Earth ?
(A) 70 x 105 km (B) 100 x 10° km
(C) 110 x 106 km @50 x 106 km

Which of the following weather conditions is indicated by a sudden fall in barometer reading ?
.Stormy weather

(B) Calm weather

(C) Cold and dry weather

(D) Hot and sunny weather

Which of the following is called philosopher’s wool ?
(A) Zinc bromide (B) Zinc nitrate
.Zinc oxide (D) Zinc chloride

Which of the following gas is used for artificial ripening of green fruits ?
(A) Carbon Dioxide (B) Ethane

(C) Hydrogen .Acetylene (ethylene)

When ants bite, they inject
(A) Glacial Acetic Acid (B) Methanol
.Formic Acid (D) Stearic Acid

What is the pH level of blood of normal person ?

(A)4.5-4.75 (B) 6.45 - 6.55
@35-745 (D) 8.25 - 8.35

Alpha - Keratin is a protein present in

(A) Blood (B) Skin

.Wool (D) Eggs

The characteristic odour of garlic is due to

(A) A chloro compound .Asulphur compound
(C) A fluorine compound (D) Acetic acid

Which one of the following links all the ATMs in India ?
(A) Indian Banks Association

(B) National Securities Depository Limited

.National Payments Corporation of India

(D) Reserve Bank of India

ESP-1-M 15 [PT.O.
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054.

055.

056.

057.

058.

059.

060.

061.

RURAHL Y Bewe - U1 wisiiL 1AL UsiRl 2uq al.

1. 219 2. Ul 3. ugHL 4. di-ulas
2104 s aG e ?

(A) WA 1 914 2 (B) WisL 2 11 3

@ 1274 (D) Hnt 3 2R 4

Aosd 615 2ls SlRag Bauell av ........ 8.

(A) 2B - wa @S -

(C) 2521612 - A2WIR (D) Ayl - BArR

cuRdul 2uls udaw e a .......... 1R USURAA A1 6,

(A) Rosd 6ls 2iis SR

(B) ¢ -l Yu

@ 1100 visua, curd uRsR
(D) GaIldL HAUHY, HIRA USIR

‘S5 WS RURAL Al Gelg A AU 2N D 3 F ......... .
(A) 2s 21 dnAnfAd i,

(B) WAl MyR 8i.

@ uicran g s,

(D) 2ulds Ad wwa dal iy,

QUL YL t1onRuL SIMISL §3) Addl 251991 HIZ, FURA ARSIR GIRL ... A4 [Raunsdl A 2uunami
2l 69 ?

@:cs (B) RBI

(C) NITI 2uuidl (D) CBI

AR SIHERL 25 s ol AisdlaA nu ... usR+ll 61513l AAY .

(A) Bg2ld G513l @-icucs sl

(C) 25l sd sis1d) (D) a5l tisisl

(o1 ul a1 UL s Geng-l suotaHi siidenga tud- Yoo Wl ddls Al 38 8 ?

(A) a6 @
(C) [~z (D) sl

MURAHL “Ad $ila 1w UL sieL 69 ?

(A) A4, A, - @G sun
(C) x1ydLu2e (D) 2leg 2ogd seun
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054.

055.

056.

057.

058.

059.

060.

061.

Consider the following high-yielding varieties of crops in India :

1. Arjun 2. Jaya 3. Padma 4. Sonalika
Which of these are wheat ?

(A)Only 1 and 2 (B) Only 2and 3

.Only land4 (D) Only 3and 4

The accounting year of Reserve Bank of India is .

(A) April - March .July - June

(C) October - September (D) January - December

Economic Survey in India is published officially, every year by the
(A) Reserve Bank of India

(B) Finance Commission of India

.Ministry of Finance, Government of India

(D) Ministry of Industries, Government of India

‘Eco mark’ is given to the Indian products that are
(A) Pure and unadulterated (B) Rich in proteins
.Environment-friendly (D) Economically viable

To prevent recurrence of scams in Indian Capital Market, the Government of India has assigned
regulatory powers to

SEBI (B) RBI
)
(C) NITI Aayog (D) CBI

Unemployment which occurs when workers move from one job to another job is known as
(A) Seasonal unemployment

.Frictional unemployment

(C) Technological unemployment

(D) Cyclical unemployment

In which of the following products has Bangladesh emerged as the main competitor to India in the
world market ?

(A) Wheat .J ute
(C) Cement (D) Pharmaceuticals

Who is the pioneer of “White Revolution’ in India ?
(A) M. S. Swaminathan .Verghese Kurien
(C) Amrita Patel (D) APJ Abdul Kalam
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062. A UL 58 sudl2 S-Alwa (e-Choupal) -um wHlRL B H2as A3 53 8d ?

@ c (B) s1042
(C) Uis2R 2ir die (D) Renu-a

063. [ U 56 ALl widl & ?
(A) Aiva - sRa Y[ (B) dgilust - seue
@ iz - 2isaud (D) a1 - Slan

064. -NA-unidl s34 uloy {d sinsiug el ?
(A) salRuug - 530

(B) 21251 - umet

@ cion - saies

(D) 518l Uy, - 248 N

065. ‘Gigt [eid sugor yuud’ u .......... NS
@i« S AR

(B) 5152 516[Rua 215 SRl

(C) AR w1518l

(D) 222 6is 2is S[Ru

066. ®URAlU tiaRRAL 2uHwHi AL Ul su1 Gaou-l uwda 2dd Al ?
(A) AR 2ad> @1 2aud
(C) 2lMeulsad aud2u (D) HiddL, <l

067. AAS kAU .......... AU WAL dZlS Beg dd uanondl asi e ?
(A) dlsd-llu $dlsa
@iisci-Nu (3052w
(C) adladla ariiugll
(D) adladly s-dls@

068. tidRARIIU AlA2t ANASA HIS AU AHA 5 FURA-L SIS G H2 ..., sugl otrudl as 6.
(A) tran il asuldd)
(B) tiguld osui-l Asuladd)
(C) @artdl-anLdl Al asHlddl
@:Sua uoud uculd @
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062. Which of the following companies had started a rural marketing network called e-Choupal ?
@ c (B) Dabur
(C) Proctor and Gamble (D) Reliance

063. Which of the following pairs is wrong ?
(A) Samkhya - Kapil Muni (B) Vaisheshika - Kanad
.Mimamsa - Shankaracharya (D) Nyaya - Gautama

064. Which of the following pairs is wrong ?
(A) Kalaripayattu - Kerala
(B) Gatka - Punjab
.Silambam - Karnataka
(D) Kathi Samu - Andhra Pradesh

065. ‘Bahujan Hitay Bahujan Sukhay’ is the mottoof
@~ india Radio
(B) Craft Council of India
(C) Sahitya Akademi
(D) State Bank of India

066. Which of the following objectives is not embodied in the Preamble to the Constitution of India ?
(A) Liberty of Thought .Economic Liberty
(C) Liberty of Expression (D) Liberty of Belief

067. Local self-government can be best explained as an effort in
(A) Democratic centralisation
.Democratic decentralisation
(C) Administrative delegation

(D) Administrative centralisation

068. The Parliament can make law for whole or any part of India for implementing international
treaties

(A) with the consent of all the states
(B) with the consent of the majority of states
(C) with the consent of the states concerned

.without the consent of any state
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069.

070.

071.

072.

073.

074.

075.

076.

077.

cuRdrl ARd AR ui dardl Al A2 WA si-dl wA © ?
(A) @uRd-L 02Ul @2l 2iue
(C) MRl A3MHLA (D) S+l el

IRl MU H8aRuUA s a2 W4 sui as edl ?
(A) slastt @S
(C) AHElUE (D) asiel

MR iRl 56 2144 324l AU 244 [RaRiAL adlag 2 Rzl [@eiy s
qAd &9 ?

(A) Al @i

(C) ual (D) aHl

A-lla-u Holeds [Rtaidia surdla simami ada s2a-l 8 ... AUALAL Sl
(A) A5l dlsdl-l (B) A+l s alsaudl-l

(C) il disudl-l @)u+ulrs n 2ulds cdisudlHl
GURAL GTHIRRIHD AHIAALAL ARSI U™ AYAIE G121 AU 2UdE 8. 4. .......... 8.
(A) 21329¢ 16 9l 20 2x1249¢ (B) »173269¢ 15 ¢l 19 24%9¢
@-1129¢ 14 0 18 217236 (D) w1429 13 ¥l 17 x17289¢
*IRAHL L 518 [BilRaL walRs .......... A AR g1l 53 a5 ).

@:u= 27 aqruug 2ud2 (B) SIAEL AHEL HUHIAAAL

(C) @A 21 ulEddld s, 28R (D) s 2and>u

ABRAA A ... AAHE AL A% Al naH a32ud a8 sdl.

@i 22 (B) Busrz

(C) A1 (D) >3

Y Y Y Y

Aop-lla-u Holeads Reaidial A WAL sl 214269¢ Aidedla aild 211 yreu-dl 2 0Hg(H= 08
Asnda 9 ?

@:-: (B) 48A

(C) 43A (D) 41

Gl AL YRUR i, M2l ... il BusRAML 204 9.

(A) MRarl AR AR @5 2l RRwiD
(C) cuRarll 2uslas AEwid (D) Aol 2uslus AAui
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069.

070.

071.

072.

073.

074.

075.

076.

077.

Who of the following is authorised to withdraw funds from the Consolidated Fund of India ?
(A) The President of India .The Parliament of India
(C) The Prime Minister of India (D) The Union Finance Minister

In India, the first Municipal Corporation was set up in which of the following ?
(A) Kolkata .Chennai
(C) Ahmedabad (D) Vadodara

Which schedule of the Constitution of India contains special provisions for the administration and
control of scheduled areas in some states ?

(A) Third @-irth
(C) Seventh (D) Ninth

The purpose of the inclusion of Directive Principles of State Policy in the Indian Constitution is to
establish

(A) Political democracy (B) Social democracy

(C) Gandhian democracy .Social and economic democracy

In the Indian Constitution, the Right to Equality is granted by five articles. They are
(A) Article 16 to Article 20 (B) Article 15 to Article 19
.Article 14 to Article 18 (D) Article 13 to Article 17

A British citizen staying in India cannot claim Right to
.Freedom of trade and profession. (B) Equality before the law.

(C) Protection of life and personal liberty. (D) Freedom of religion.

The Panchayati Raj was first introduced in the states of Rajasthan and
.Andhra Pradesh (B) Bihar
(C) Gujarat (D) Odisha

Which of the following Articles of the Directive Principles of State Policy deals with the promotion
of international peace and security ?

@-: (B) 48A
(C) 43A (D) 41

The salaries and allowances of the Judges of the High Court are charged upon the
(A) Consolidated Fund of India .Consolidated Fund of the State
(C) Contingency Fund of India (D) Contingency Fund of the State
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078. €. yd 94l uglui, A WA 54 1012/1%% AZ2UAHE Al wlsazuoll 8q ?

(A) 2aIR (B) ¥y
(C) siall @
079. A~ WSl 510l (UL [RAl5cu &xt 0 Asmda 4l ?
(A) ara-dlR @cvzs2ad
(C) us (D) Yad
080. Mid- N2~ sl WA 519 2uylAs eoi (A2l i gl 2am 539 ¢dl ?
(A) 882 uel (B) M2 silam
(C) s vuan G @Gy
081. wreR s[@andl [uys .......... oug o4 sdl.
(A) A5 Sidt bi-ua @ (Buicuan oun seusis
(C) viduny [Acucs+ (D) tuRsidll acuas
082. “¥i[Mra GuRd”’ -l 2yl .......... gL as gdl.
(A) YR 61l @ Q. uars2
(C) uga w4l (D) M2 R

083. -t [dtuniA A @l :
(Qann 12 wenn ol s Adllsm 8 3 wanvllaii- GM Hee3u wu ©.
(Qtun 2 : vt o)Al Q511 Brir-ud A8EL 3dd (NFR) glRL $aML 204 9.
(A) W [Qaun 1 A 8. @ a2 w8,
(C) tin [Qa-l ueu 69, (D) sidum [Qauq ues .

084. ([ Juia 2128 12l 2is 2auzd 2 DA VA 5 cueid w8 AsAa © ?
(A) goudLlL addL i €2 (B) AES Heyrll Al %l s
(C) aadl ol Alus Gl @1 o £13000 A5 uHRAL

085. $uL eAHL “wYAA d2aix” il 284 €9 ?

(A) SHRA (B) Su
@ a0 (D) ¢4l
086. “Bes 2022” i ......... AU AsNAA 69,
@-s! (B) ONGC
(C) SEBI (D) ICICI Bank
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078.

079.

080.

081.

082.

083.

084.

085.

086.

Which of the following was initially the most powerful city/State of India in the sixth century B.C.?

(A) Gandhar (B) Kamboj

(C) Kashi @ 12gadh

Who of the following is not associated with medicine in India ?

(A) Dhanvantri .Bhaskaracharya
(C) Charaka (D) Susruta

Who among the following Indian rulers established embassies in foreign countries on
modern lines ?

(A) Haider Ali (B) Mir Qasim

(C) Shah Alam 2 @ iou suitan

The Hunter Commission was appointed after the

(A) Black Hole incident .Jallianwala Bagh massacre
(C) Partition of Bengal (D) Bardoli Satyagraha

“Abhinav Bharat” was organised by
(A) Khudiram Bose .\/. D. Savarkar
(C) Prafulla Chaki (D) Bhagat Singh

Consider the following Statements :

Statement 1 : Plan Bee is an innovation which helps rearing of bees.

Statement 2 : Plan Bee is developed by Northeast Frontier Railway (NFR)

(A) Only statement 1 is correct. .Only Statement 2 is correct.

(C) Both the statements are correct (D) None of the statements is correct.

Philip Compose Task Force of Experts is associated with which of the following ?
(A) Increasing rate of inflation (B) Increasing rate of AES deaths

(C) Increasing problem of global warming .Increasing problem of ammunition accidents

“Operation Nightwatch” is going on in which country ?

(A) lIsrael (B) Iran
.Netherlands (D) Turkey
“Utkarsh 2022 is associated with

@rs! (B) ONGC

(C) SEBI (D) ICICI Bank
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087.

088.

089.

090.

091.

092.

093.

LIDETRECTEIR RTRRCT

(At 1 : dg euRd 2Hatu 2 [2edl 2= aiiill a4 €13 8.

[Qain 2 ¢ d cuRd-l aga-ARd Qe 33 24 6.

(A) Wt [Qn 1 a9, (B) Hua Qe 2 e 69,
@vin Qi a8, (D) siSuat [Qauq ucy .

‘DEEP-CEE’ ¢ 8 ?

(A) DRDO g2l [asaiaaimi sudl 284 215 usi-l ae1ul+

@15 20iouviinn uygin i we-) 2l Rua S2dl-u dalaa 2is [@QR 3 da

(C) 51 A 20 MURA-ULS UL HAA A5 bis2

(D) SARL (ISRO)I 18 dsulAs silsy

uaulaRel, a2 suelsdl WRad Hauaua ‘Sri-asigiadla wiain’ (ueRRias waaint) sidold
A1 U4l s well-l uHide adl 2l ?

(A) aigli (B) 14l

@ (D) %l §552

AP ARHL A% AL WUYR A1 Yzl (A HASR e )5 ude saul 20dd 8. 8d, MR ga 526
aes 8129 S ([ qAeR woUAL) 4R1d €9 ?

(A) 36 (B) 37
@:s (D) 39
2[5 Azl 2018-19 Ui, ‘BADLAV’ (Bladld) .......... We ¢,
(A) 229l @i
(C) sumsi (D) ALleil
MOSAIC [Ra .......... e 69,

(A) YA AU
(B) vizci[2s HSIARR 1A Botisal WRadHHl 21801
@152 uR 2usisa uRad- 2l vewn

(D) [Bruau-l [Bufqai-l » e

“segsell” (Kulhudhuffushi) sui »uda 6 ?
(A) 4 dst @«

(C) RUAHR (D) S=siilr
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087. Consider the following Statements :
Statement 1 : Vande Bharat Express runs between Delhi and Varanasi.
Statement 2 : It is India’s fastest indigenous train.
(A) Only statement 1 is correct
(B) Only Statement 2 is correct
.Both the statements are correct

(D) None of the statements is correct

088. What is ‘DEEP-CEE’ ?
(A) A type of submarine being developed by DRDO.
.An Avrtificial Intelligence-powered tool to identify galaxy clusters.
(C) A bunker on Indo-Pak border on a secret location.

(D) A scientific program of ISRO.

089. Which of the following animals is not included in ‘immunocontraceptive measures’ by the Ministry

of Environment, Forest and Climate Change ? .
(A) Monkey (B) Elephant
.Bear (D) Wild Boar

090. Recently Jaipur city of Rajasthan has been chosen as UNESCO world heritage site. Now, India
has how many world heritage sites ?

(A) 36 (B) 37 @:s (D) 39
091. In Economic Survey 2018-19, the term ‘BADLAV is for :

(A) Cleanliness .Girls

(C) Boys (D) Poor

092. MOSAIC Missionisfor
(A) Study of Sun
(B) Study of Atlantic Ocean and climate change
.Study of climate change impact on the Arctic
(D) Study of the Himalayan Glaciers

093. Where is “Kulhudhuffushi” situated ?
(A) Sri Lanka .Maldives
(C) Myanmar (D) Indonesia
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094.

095.

096.

097.

098.

0909.

100.

LIDETRECTEIR RTRRCT

(At 1 : LESA ¥t ‘Lunar Evacuation System Assembly” 4 £§ -us 6.
(A4 2 : d ISRO gL d=u(ed €.

@ Qa1 ua s,

(B) 1ot [Asnm 2 uen 69,

(C) biq [Qtul e 89,

(D) siSuat [t aea 4.

“9133 67 2 1A WA su1 6l eal QA Y5 Qesdl sauud © ?

@-i2a 21 s

(B) GURd 2 SAAUA

(C) MuRd 241 A

(D) HIRd A Y AU,

A dARH, DA WS sl a0 HeRien 09 d [Ag-l uldH 2 scumi 2udl edl ?
(A) YA @iz

A

(C) awiqG (D) 2Ri2l

A=A WS s A% A ‘Sras vl fsda 9 ?

(A) A3Ud (B) 121

(C) slRuweu @G u2a

“qe-ofla’, o Bl 2is s 9, d A WS sUL A%A GIRL MWL SAAUHT 2149, ?
(A) 31l @ 2

(C) [lz5n (D) A%

‘FATF’ v HaS sul 20dg 9 ?

(A) y dls @~

(C) @[Ra (D) el

A Qi ud @l

[Qann 12 Fout s’ Rani-l ondud yatun W sl giiad ©.

[Qain 21 Foi s’ Ra 3 w2 ©.

(A) Wt [Qun 1 a9, (B) Hua [Qannt 2 e 69,
(C) oA [Qeuil ueu . @S ua (s ey o,
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094.

095.

096.

097.

098.

099.

100.

Consider the following Statements :

Statement 1 : LESA is an abbreviation of ‘Lunar Evacuation System Assembly’
Statement 2 : It is managed by ISRO

.Only statement 1 is correct.

(B) Only Statement 2 is correct.

(C) Both the statements are correct

(D) None of the statements is correct.

“Garuda 6” is a joint military exercise of which of the following two countries ?
.India and France (B) India and Israel
(C) India and Russia (D) India and USA

Recently, at which of the following places was the statue of Maharaja Ranjit Singh installed ?
(A) Amritsar .Lahore
(C) Luknow (D) Toronto

“Dastak Campaign” is associated with which of the following states ?
(A) Gujarat (B) Rajasthan
(C) Haryana .Uttar Pradesh

“Sah-Beej”, brand name of seeds, will be supplied by which of the following states ?
(A) Gujarat .Madhya Pradesh
(C) Sikkim (D) Rajasthan

Where is the headquarter of ‘FATF’ situated ?
(A) New York .Paris
(C) Geneva (D) Berlin

Consider the following Statements :

Statement 1 : ‘Dragon Fly’ mission is announced by European Space Agency.
Statement 2 : ‘Dragon Fly’ mission is for Jupitor.

(A) Only statement 1 is correct.

(B) Only Statement 2 is correct.

(C) Both the statements are correct

.None of the statements is correct.

ESP-1-M 27 [PT.O.



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


101.

102.

103.

104.

105.

106.

107.

108.

If for a given material E = 2G, then the bulk modulus K will be

@:: (B) E/2
(C) E/4 (D) E

The following loss does not occur in Pre-tensioning of concrete
(A) Relaxation of stress in steel
(B) Shrinkage of concrete

.Friction

(D) Creep of Concrete

Uniformly distributed load on a concrete beam can be effectively counterbalanced by selecting
(A) Concentric cable

(B) Eccentric cable

.Parabolic cable

(D) Trapezoidal cable

Asoil sample has a porosity of 40%. The specific gravity of solids is 2.70. Calculate its void ratio.
@oss7 (B) 0.333
(C)0.45 (D) 0.25

The Standard temperature for reporting specific gravity as per Indian Standard is
(A) 25°C (B) 30°C
@:7-c (D) 11°C

The ratio of Plasticity Index to Flow Index is called as
.Toughness Index

(B) Liquidity Index

(C) Plasticity Index

(D) Consistency Index

Which of the following is not a factor that is affecting Compaction of Soil?
(A) Water Content

(B) Amount of compaction

(C) Type of Soil

.Wind Velocity

Which is a method of underwater concreting?
.Tremie method

(B) Bogues method

(C) Ultra pulse velocity method

(D) Self-Compacting method
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109. The approximate Calcium oxide composition limits of Ordinary Portland cement is
@s0-67% (B) 17 - 25%
(C)3-8% (D) 0.1-4%

110. The cement used in making concrete in Marine conditions
(A) Extra Rapid Hardening Cement
.Sulphate resisting cement
(C) Quick setting cement
(D) Air entraining cement

111. The apparatus used for finding the setting time of cement is
.Vicat Apparatus
(B) Le-Chatelier Apparatus
(C) Blaine's Apparatus
(D) Viscometer Apparatus

112. The apparatus used for finding the soundness of cement
.Le-ChateIier Apparatus
(B) Slump cone test
(C) Vicat Apparatus
(D) Marsh cone test

113. The admixture which is used to increase the setting time of concrete

.Retarder (B) Accelerator
(C) Gypsum (D) Aluminum Powder
114. The nominal cover required to meet the durability requirement for mild exposure condition as per
IS 456 2000
.20 mm (B) 30 mm
(C) 45 mm (D) 50 mm

115. The range for density of high density concrete is
(A) 800 to 1000 Kg per cubic meter
(B) 1200 to 1500 Kg per cubic meter
(C) 2200 to 2500 Kg per cubic meter
.3360 to 3840 Kg per cubic meter

116. The water requirement per capita demand in litres/day/person for population of 20000 to 50000 is
(A) 110 @:0-150
(C) 150 - 240 (D) 240 - 275
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117. The range of rate of filtration of pressure filters is

118.

119.

120.

121.

122.

123.

124,

(A) 1000 to 2000 liters per hour per sq. m of filter area
(B) 2000 to 4000 liters per hour per sq. m of filter area
(C) 4000 to 5000 liters per hour per sq. m of filter area
.6000 to 15000 liters per hour per sq. m of filter area

The ages of two persons differ by 16 years. If 6 years ago, the elder one be 3 times as old as the
younger one, find their present ages.

.14 and 30 years (B) 8 and 24 years
(C) 60 and 76 years (D) 5 to 21 years

A book was sold for Rs. 27.50 with a profit of 10%0. If it was sold for Rs. 25.75 then what would
have been the percentage of profit or loss?

@5 Profit (B) 3% Loss
(C) 6% Profit (D) 6% Loss

A, B and C enter into a partnership investing Rs. 35000, Rs. 45000, and Rs. 55000 respectively.
The respective shares of A, B and C in an annual profit of Rs. 40,500 are

(A) Rs. 10500, Rs. 13000, Rs. 17000
@rs. 10500, Rs. 13500, Rs. 16500
(C) Rs. 13500, Rs. 10500, Rs. 16500
(D) Rs. 16500, Rs. 13500, Rs. 10500

A does a work in 10 days and B does the same work in 15 days. In how many days they together
will do the same work?

(A) 5 days .6 days

(C) 4 days (D) 8 days

How long will a boy take to run round a square field of side 35 meters, if he runs at a rate of
9 Km/hr?

(A) 52 sec (B) 50 sec

.56 sec (D) 54 sec

A man sitting in a train which is running at 50 Kmph observes that a goods train running in
opposite direction takes 9 seconds to pass him. If the goods train is 280m long, find its speed.

(A) 52 Kmph (B) 50 Kmph

(C) 56 Kmph @s2 <kmph

At the rate of 8.5% p.a. simple interest a sum of Rs. 4800 will earn how much interest in
2 years 3 months?

(A) Rs. 816 (B) Rs. 796

@rs o8 (D) Rs. 956
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125.

126.

127.

128.

129.

130.

131.

132.

The bacteria in milk are destroyed when it heated to 80 degree Celsius
(A) was (B) will be
(C) would be @
with someone else’s email account is now a very serious offence.
(A) Involving (B) Assisting
.Tampering (D) Incubating
The Energy stored in a system is called as
(A) Kinetic Energy .Potential Energy
(C) Chemical Energy (D) Nuclear Energy

The estimate of shortest possible time when the works can be completed under ideal conditions
is called

.optimum time estimate (B) Most likely time estimate
(C) Pessimistic time estimate (D) minimum time estimate

In which organizational form would the project manager possess the greatest amount of authority?
(A) Classical/traditional

.Projectized
(C) Strong matrix

(D) Weak matrix

During project staffing, the primary role of line management is

(A) Approving the selection of the project manager

(B) Approving the selection of assistant project managers

(C) Assigning functional resources based upon who is available

.Assigning functional resources based upon availability and the skill set needed

Which of the following is not one of the sources of authority for a project manager?
(A) Delegation from senior management

.Delegation from subordinates

(C) Job description for a project manager

(D) Project charter

What does the acronym WAN stand for?
(A) Widest Area Network

.Wide Area Network

(C) Wide Area Networking

(D) Wildest Area Network
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133. Luster doesn’t depend on
(A) Refractive index of mineral
(B) Absorption of mineral
.Transmittance of mineral
(D) Nature of reflecting surface

134. ‘Representative Fraction’ (RF) is defined as
.Length of an object in the drawing/Actual length of the object
(B) Length of an object in the drawing/lIsometric length of the object
(C) Actual length of the object/Length of an object in the drawing
(D) Isometric length of the object/Length of an object in the drawing

135. The isometric projection of a circle is a

(A) Circle @cipse
(C) Parabola (D) Hyperbola

136. The igneous rock rich in cavities is
(A) Granite (B) Basalt
(C) Gabbro .Dolomite

137. High carbon steel is used in

.transmission lines and microwave towers
(B) structural buildings

(C) fire resistant buildings

(D) for waterproofing

138. The length of a line measured with a 20 m chain was found to be 250 m. Calculate the true length
of the line if the chain was 10 cm longer.

(A) 252.25 m @25125m

(C) 225.25m (D) 221.25m
139. is considered as the strongest Bond in brick work.

(A) Raking bond @cngiish bond

(C) Garden Wall bond (D) Dutch bond

140. A man gains 20% by selling an article for a certain price. If he sells it at double the price, the
percentage of profit will be:

(A) 100 (B) 120
(C) 40 @+0
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141.

142.

143.

144,

145.

146.

147.

148.

149.

As per IS 456, Basic values of span to effective depth ratios for spans up to 10m for continuous
beams is

(A7 (B) 20
.26 (D) None of the above

Design Bond stress for grade M40 and above is

@ (B) 1.2

(C) 1.7 (D) 1.4

As per IS 456, The pH value of water shall not be less than

(A) 4 @

©)8 (D) None of the above

The factor/s influencing durability of Concrete is/are
(A) the environment

(B) the cover to embedded steel

(C) the shape and size of member

@~ 1 of the above

The minimum water content at which soil will just begin to crumble when rolled into a thread
approximately 3 mm in diameter is known as

@rostic limit (B) Liquid limit
(C) Shrinkage limit (D) Plasticity Index

In stone masonry, some stones at regular intervals are placed right across the wall, such stones are
known as

.through stone (B) corbel

(C) Quoins (D) spalls

A is similar to an activity but it does not consume any resources.
.Dummy (B) Event

(C) Slack (D) None of the above
PERT is

(A) activity-oriented .event—oriented

(C) Both (A) and (B) (D) None of the above

One kg of force is equal to
(A) 8.9N (B) 7.8N
@-sn (D) 10.2N
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150.

151.

152.

153.

154.

155.

156.

157.

158.

Unit of stress in S. I. units is
(A) N/mm?2 (B) N/m2
(C) KN/mm?2 .any one of these

Jhama bricks are

(A) wellburnt having smooth and even surface
.overburnt with regular shape

(C) underburnt and can be easily broken

(D) slightly overburnt having rough surface

As per IRC 37:2018, for Initial (two-way) traffic volume in terms of commercial vehicle per day is
0-150, the Vehicle damage factor for Plain/Rolling terrain is

(A) 3.9 @:.
(C) 5.0 (D) 0.6

As per IRC: SP: 84, the annual growth rate of commercial vehicles shall be taken to be a minimum
of per cent.

(A) 9.5 (B) 10
(C)7.5 @:-

Suspended impurities consist of

(A) iron .bacteria

(C) chlorine (D) All of the above

The best Coagulant for removing the color of water is

.alum (B) lime

(C) iron sulphate (D) copper sulphate

In a simultaneous throw of two dice, what is the probability of getting a total of 7?
(A) 174 @6

(C) 213 (D) 3/4

Abox contains 4 red balls, 5 green balls and 6 white balls. A ball is drawn at random from the box.
What is the probability that the ball drawn is either red or green?

(A) 2/5 (B) 1/5

@:s (D) 7/15

A speaks truth in 75% cases and B in 80% of cases. In what percentage of cases are they likely to
contradict each other, narrating the same incident?

@ss00 (B) 45%

(C) 15% (D) 5%
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159.

160.

161.

162.

163.

164.

165.

166.

167.

The ratio of the cost price and the selling price is 4:5. The profit per cent is

(A) 20% @25

(C) 10% (D) 30%

On selling 17 balls for Rs. 720, there is a loss equal to the cost price of 5 balls. The cost price of a
ball is

(A) Rs. 50 (B) Rs. 55

(C) Rs. 45 @rs. o

A pair of articles was bought for Rs. 37.40 at a discount of 15%. What must be the marked price
of each of the articles?

(A)Rs. 11 (B) Rs. 33
@rs. 22 (D) Rs. 44

A man in a train notices that he can count 21 telephone posts in one minute. If they are known to
be 50 meters apart, then at what speed is the train running?

(A) 57 km/hr (B) 55 km/hr
(C) 63 km/hr @so kminr

If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20km more. The actual
distance travelled by him is

@-o km (B) 70 km

(C) 56 km (D) 80 km

The maximum water content at which a reduction in water content will not cause a decrease in the
volume of a soil

(A) Plastic limit (B) Liquid limit

.Shrinkage limit (D) Consistency Index

The sum of the squares of three consecutive natural numbers is 2030. What is the middle number?
(A) 25 (B) 27

@:s (D) 28

The Theodolite is an instrument used for measuring very accurately
(A) vertical angles only

(B) horizontal angles only

.horizontal and vertical angles

(D) linear measurements

The product of matrices (PQ)-1P is
(A) P (B) P1Q-1p-L
(C) PQP- @
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168. In a certain code language if the word ‘MUSEUM’ is coded as ‘LSPAPG’, then how will the word
‘PALACE’ be coded in that language?
@oviwxy (B) OYIXYW
(C) YXWYOI (D) IYXYWO
169. In a certain code language, if the value of ‘BLOCK’ = 13 and ‘CURTAIN’ = 27, then what is the
value of the word ‘SCIENCE’?
(A) 36 @:s
(C) 32 (D) 34
170. RQP, ONM, LKJ, , FED
(A) CAB (B) GHI
(C) IKL @+
171. For agold LEED certification, how many points are required?
@070 (B) 40-49
(C) 50-59 (D) 80-110
172. The objective of Sustainable development is
(A) Reviving growth
(B) reorientation of technology and managing risk
(C) conserving and enhancing the resource base
@~ of the above
173. In the Taylor’s series expansion of ex about x = 2, the coefficient of (x — 2)%is
(A) 24/41 (B) 1/4!
@-+ (D) e4/4!
174. Two primary air pollutants are
.sulphur oxide and hydrocarbon
(B) nitrogen oxide and peroxyacetyl nitrate
(C) sulphur oxide and ozone
(D) ozone and peroxyacetyl nitrate
175. Non-disposal of solid waste may cause
(A) malaria .typhoid
(C) plague (D) dysentery
176. Penetration test on Bitumen is used for determining its
.grade (B) viscosity
(C) ductility (D) temperature susceptibility
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177.

178.

179.

180.

181.

182.

183.

184.

The amount of Oxygen consumed by the aerobic bacterias which cause the aerobic biological
decomposition of sewage, is known as

.Dissolved Oxygen (D.O.)

(B) Biochemical Oxygen Demand (B.O.D.)
(C) Chemical Oxygen Demand (C.0.D.)
(D) None of the above

The specific gravity of water is taken as
(A)0.1 (B) 0.001
@ (D) 0.0001

Consider the system of simultaneous equation,

X+2y+z=6

2X+y+22=6

X+y+z=5

The system has,

(A) infinite number of solutions .no solution

(C) unique solution (D) exactly two solutions

Educational institutions, libraries, hospitals and industries store concerned information by

.data management (B) word processing

(C) operating system (D) informing system

To collect information and store them in computer in more than one interlinked files is called
(A) data cleaner .data managing

(C) data logging (D) data storing

In computer terminology which of the following describes drivers?

(A) software that allows the user to control the operating system

(B) hardware that allows interaction between peripherical device and the operating system
.software that allows interaction between peripherical device and the operating system
(D) None of the above

Which one of the following would not be considered as a form of secondary storage?

(A) widest area network (B) wild area network
(C) wide area networking .wide area network
What is the name of web page address?

(A) Directory .U RL

(C) domain (D) protocol
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185.

186.

187.

188.

189.

190.

191.

192.

193.

The line or plane passing through the geographical north pole, geographical south pole and any
point on the surface of the earth is known as

(A) magnetic meridian .true meridian

(C) arbitrary meridian (D) grid meridian
Negative friction may develop if the material is loose soil.

(A) Cohesive .Cohesionless

(C) Both (A) and (B) (D) None of the above

Pressure drag results in

.formation of wake

(B) turbulence of the wake

(C) existence of stagnation point in front of a body
(D) high Reynolds number

A critical activity has
(A) average float .zero float
(C) maximum float (D) minimum float

Ift,, t,and t,, are the optimistic, pessimistic and most likely time estimates of an activity respectively,
the expected time ‘t’ of the activity will be

(A) to+ 3ty +1,/2 (B) to+ 3t +t,/3
(C) to+ 4t + 1,/ 4 @4t t./6
Bar charts are considered to be suitable for

.minor works (B) major works
(C) dam constructions (D) large projects

Spacing of stirrups in a rectangular beam is
(A) increased at the center of the beam

(B) kept constant throughout the length
.increased at the ends

(D) decreased towards the center of the beam

The formula to find the coefficient of active earth pressure

1-sin 6 1+sin 6
@ (B) — ©)— (D) —
1+sin 0 1-sin 0 1+sin 0 1-sin 6
The shear reinforcement in RCC is provided to resist
.diagonal tension (B) diagonal compression

(C) horizontal shear (D) vertical shear
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194.

195.

196.

197.

198.

199.

200.

How does an increase in the pitch of the roof affect the amount of load that can be placed on it?
.It decreases (B) It increases
(C) Remains constant (D) Depends upon the case

The compound which is responsible for early strength of concrete is

@c:s (B) C,S

(C)CsA (D) C,AF

The water stored in the reservoir below the minimum pool level is called as
(A) Useful storage .Dead Storage

(C) Conservation storage (D) flood mitigation storage

The precipitation which is caused by lifting of an air mass due to pressure difference is called
(A) Natural Precipitation (B) Organic Precipitation
(C) Convective Precipitation .Cyclonic Precipitation

Which of this is not a minor method of disinfection of water?
(A) Treatment with Excess lime

(B) Treatment with lodine and Bromine

(C) Treatment with Potassium permanganate

.Treatment with Aluminum powder

The Total Dissolved Solids (TDS) of the Swimming pool should not exceed

(A) 500 mg/L @ 1500 mgL
(C) 750 mg/L (D) 2000 mg/L
The design life of flexible pavement is years.

(A)8 (B) 10

(C) 12 @:s
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